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kolmogorow-Smirnov Test 
 
�����
��!
��
�9����	�"�

H0 : ,	�� ��$���'��'�!�%&�/�	!%�
� 
H1 : ,	�� ��$���'��'�!��"�%&�/�	!%�
� 

� ��<$����)���6��-##$� 10 ���#�
�-
��
���	0������
��������,	�
��
���
'������1"�


���*"�!��$*� '�� The Kolmogorow-Smirnov Test 
 
2. ��
������
���� !"
���
�������� (Homogeneity of Variance)
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df1 = n1 - 1 '�� df2 = n2 - 1
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1 σ=σ

H1 : 2
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1 σ≠σ
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Cochran$ C '�� Hartley$s F max 
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(One-way ANOVA) � ��-##$� 5 
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�������� 12.1 
��'%� X '�� Y �$,	�� ���!�$�

X 1 1 1 2 2 2 3 3 3 4 4 4 5 5 5

Y 2 3 4 3 4 5 3 4 5 4 5 6 4 5 6
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��	�)�
��! -Analyze/ ��� ��! -Compare Means1/ '����� *"�* -Means1/ ���������
��
'%� X ���
��'%���
�� �
"���"�! -Independent List :/ '��
��'%� Y ���
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-Dependent List :/ ����%1C� -Options1/ ���������#$� -Test for linearity/

���������������$��!�$�

ANOVA Table 
 

Sum of 
Squares df 

Mean 
Square F Sig. 

x * y Between 
Groups 

(Combined) 12.500 4 3.125 1.786 .208

Linearity 12.228 1 12.228 6.988 .025
Deviation from 
Linearity .272 3 .091 .052 .984

Within Groups 17.500 10 1.750
Total 30.000 14

Measures of Association 
 

R R Squared Eta Eta Squared 
x * y .638 .408 .645 .417

�����#�
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�������� 12.2 ���������������������*,�!
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"�%K (DIVI) -�
��'%���
�� 2 
����� ��
��,�!��*��	
"�%K (EARN) '���)����%K (TREND)

,	�� �'
�!��!�$� 

DIVI 2.80 3.16 3.40 3.70 4.10 4.50 5.00 5.00 
EARN 4.13 4.63 5.17 5.80 6.21 6.83 7.35 7.91 
TREND 1 2 3 4 5 6 7 8 


�
��0��<�,�!
��'%�#��! 3 ���

Correlations: DIVI (Y) EARN (X1) TREND (X2)

DIVI (Y) 1.0000       .9911**     .9923** 
EARN (X1) .9911**    1.0000       .9996** 
TREND (X2) .9923**     .9996**    1.0000 

����	�
"�!,�!�������������������*���$%1C�#$������"� -Statistics1/ ����#$�%1C��$���
%���I��	�
"�! -Linear Regression Statistics/ ���$��� #$������"� -Collinearity diagnostics/ ��	����
�����#$���� �$� /%�'�����%�������'
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"�! H #$���$�*�,	�! 

2�0%����- 12.1 
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�!�+!%MF�� multicollinearity ���*
���	�*��� ��!�$� 

1. ���������������������������� (Variance inflation factor : VIF)
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VIF (Xi) =
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2. Tolerence 
�"� tolerance 
������)���6��	�	�*
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Tolerance = 1 - R2 =
VIF

1

�"� tolerance �$�"�
��!'
" 0 �+! 1 �	�����"��,	����	 1 '
�!�"�
��'%��%&���
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'
"�	��"��,	����	 0 '
�!�"�����%MF�� multicollinearity 
 
Variable SE Beta    Correl   Part Cor   Partial    Tolerance        VIF 
TREND 1.860104 .992333   .055953   .420980  8.4017E-04   1190.236 
EARN  1.860104 .991128  -.027201  -.220092  8.4017E-04   1190.236 

����(��"��"� Tolerence �$�"� 0.0008401 �$�"��,	����	 0 ��� 
"���"� VIF �$�"�

1190.236 ����(��"��"�#��!
�!�%&��%
����6J�,�!������� multicollinearity 
 

3. Condition Index ��� Variance-Decomposition Proportions 
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(CN) '�� condition index (CI) �$
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CN =
min

max
λ
λ

CIi =
i

max
λ
λ

����� λmax = �"������#$����#$�
1� (Largest eigenvalue) ; λmin = �"������#$��	�*#$�
1�

(smalles eigenvalue) '�� λ� = �"������
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Variance proportions �(���
��
"��,�!����'%�%���,�!�1�
�� (a) '��
��%��
�#<�G

�������* (b) '
"��
��#$�
��0��<���- Condition index '
"��
�� .+�!��'
"��
��2����$�����
�%&� 1.00 ���'%��������*��
	�!�)� 100 �%� 6 ��!��"���
��'%� EARN ��'%�����	�"� 

0% ,�!����'%�%����� bEARN 
��0��<���- Condition index 
��'�� '�� 0% 
��0��<���- 

Condition index 
��#$�
�! '�� 99.99% 
��0��<���- Condition index 
��#$�
�� 
"��
��%��
�#<�G

bTREND �('%�������	��"���$*���� 

Number Eigenval   Cond      Variance Proportions 
Index  Constant   EARN  TREND 

1 2.89046 1.000 .00001 .00000 .00002 
2 .10952 5.137 .00042 .00000 .00086 
3 .00002 359.497 .99957 .99999 .99912 

���0����6� multicollinearity ����6$�$��$
��'%� 2 
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Condition index #$��$�"�
 !
1��* "��-��#��
1�#	�* �������0����6�#$� variance proportion ����(�

�"��$�"�
 !0� H �����
��'%�#��! 2 
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��0��<���� 


